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SECTION — A : MATHEMATICS (Ae38 m9:m)

The sum of 15 terms of A.P. 3. 6. = " y 39,

A6 w0 wosHEAS |5 sore Awdo

(1) 315 2) 360 (3) 415 (4) 460

W |
The distance between the points (0, 0) and (5, 12) is

(0, 0) 8amw (5. 12) Dochye DGy drdo

Il (2) 12 (3) 13 (4) 14

The centre of a circle with (1. 2) and (7, —4), as end points of the diameter is

(1, 2) ®oaws (7, ) e s gdeimen e Ko )8 Soldo

(1) (4. 1) ) @.-1) (3) (4. -1) 4) 4.1

The roots of x?+v—6=0 are , RiF="%

X24x-6=0 Qg sureren <= -
HZE. = (@) -2,3 3) 2,3

—

A+ 2=\

4) -2, -3
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2 2 9
2 N DL 2 (4) b*
L) Jd = (3) a ]
[ L b2 t"’j a* q._ i, .
Y o8
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6  How many two digit numbers are divisible by 7 ? 1y ¢ ]
7 B grfos 8 Bodose Somgen SY? '}T"—j Qe
(1) 10 (2) 11 (3) 12 W 13 wa | \o$
S b

. . . o . . : : i xes 18
\ 7 ) Area of a triangle formed by the line xcoso+ysina=p with the coordinatle axes _
/NP |
xcoso+ ysina=p O ArssFod’ 26168 (Bzhe 2reogo \
Wt ¥

5 m 2 [
= o G e @) —E—
2sin o cos o 51N 0L COS o 2sin oLcos o . sllnotcosa

| X
¥ K -

—_—
r

8  If the slope of the line through (x, 5) and (5, 2) is 3. then the value of x is

_ (x. 5) DBay (5, 2) © thoar D) Bw wren 3 wavd, X Jend
a W 3 @4 _a O5 g ou| s EZ =S

"}-.} 3 r

9  If o, B are the roots of a quadratic equation ax?+bx+c=0. a#0 then l+l=
o RiE—

-3
o, B ew ax?+bx+c=0, a#0 By Drerds, l+l= b T g ~)
o ' %
_ b (s b
_2 oA L b
(1) 7 (2) 5 (3) ” (4) :'

SPACE FOR ROUGH WORK / o0& 398 Stronoseds somy
Q@

POLYCET-2021—p |



hen 10 10" term of an arithmetic progression 2.—1.—4........ is

i WA
2=k B ©oBEES D B3 Bess
(1 -21 @y -23 (3) -25 4) -27
: -~ 1 - - | b 15 i
V“ Ii LI:":‘. [h!..']'l ”=_ n é 1-_-3:_: - 19 h’_ b ) \ )
In=45 ewans, n=___ i ~—? et -
! W 9 (2) 10 (3) 11 @ T
= ik - 0
. I | Fc)41=1
l“ W If x*+kv+1=0 has a root =1 then = Y = & ot
4 x4+ kx+1=0 MbECANSEH r=] 28 Suredy vand, k= IC+2= 0T —
e I — P
5 (1) 1 (2) 2 3) 3 “ 2
is 0
¥3 Find the value of log, , 0.01 [‘J | T\00
logy , 0.01 dews Dos? o
(1) 1 @ 2 3) 3 (4) 4
4 The value of log, eve is
log, eve Ddews Dos?
: 1 2 3
0 5 @) 3 & 3 @ 2
15" A={C, 0.V, 1,D,19,2020}, B={¢ B A1, P.)9.2021} then B— 4=
9 A={C.0,¥,1.D,19,2020}, B={C.0.V,1. D,19,2021} wond B—4=9
"
| (1) {2020} @ {2021}
() {2020, 2021} @ {€.0.v.1.D.19,2020,2021)
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; . diagonal
- S ONC GIEE
45 The Penimeter of g rhombus is 52 em. if its € .
< 's other diagonal is : @) 10 cm
; 1. M 7 o (3) 9 cnm S @ Bogs
(IS em (2) cm 24 .Uo.uu &@an .u,_._
S8 roal Qg DeaFes 52 Tod Heam ond el Sgo TEY
aY Jos? (4) 10 o5
(1) 5 nob (2) 7 20 _.rc.anmu...
11NN 46 If 4+ 8=90% and cor b.uw,“_..:_n: the value of tand=___
iy ¥ 3 w.&_ TQ.V e '
S o 1+8=9() wdaty col == ©QUR, fan 4 Dewd
o 4 4
3 _ _
o 3 4 : =
™ (1) = ) 3 (3) 3 @) 4
_.. : dy » 52-2¢
X 7 47 If tanB=corg then the valye of secl= _u_ L =
...rM. . AnO=cotd eavs, sech deys
=, : 5
(1) ] @) .w\.. 3) 4) 1
3 48  The rdius of a cone 15 7 m and its height is 10 m. Then its slang height is
8 M 122 m (2 135 m (3) 145 m 4) 162 m
&8 domy Qg TETE 7 D vk dengy 2 10 D. wavs, Desrey APS
W 122 2 e
2.2 2) 135 %, . .
) 35D () 145 % (4) 16.2
49 The base of two similar triangles
9

4 .t\\\//‘

n the len,,
s 24 cm ther )

. are 24 cm and |8 cm, If i i
Is 8 cm then corresponding side of other triangle js ol

first triang
(1) 8 em L) 6 cm (3) 4 cm 4) 2
Body ¢rd (Behame drave PaHen 24 0.0, Hax, 18 =y =
SR, Bodd wRErs (B2har gheso

0.5, Do, g Bgbes gha0 § 70l

(1 8 2

51

—— e -

15 A B ALY
\ B Q)

‘ _- ﬂw..“._

In the fligure ¢
oo wed OB

(1) 100 em (=

In the ligure,
portion is

SO ol 4P
-Mum,.ﬁm_ac& Qo887
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l Lne It 15 8 m acro 3 he fgeur i1
s 1in tl y | frustum of a right circular ¢ =7 In the 1Eure
IS 1N the shiape ol iru - ' 3 _.ma..?_: IS -
Op and 4 m cross ar the bottom. It is 6 m deep then its c A = :
! [ L= - - 3 _L_ ~ Um S0 208 B e
(1) 704 m3 27 174 m?3 (3) 127 m a 0k
) T e 508 argaroren K &
&S Ozt s an8 cBSeE a1y 2o (D) usrdod® Sod. ord DO Ibaty (B0d FgRre
1 2. Bt S D wand, o=d e B8rEo Jod? .
3 70 .
~ (1) 704 %3 (2) 174 &3 (3) 127 83 (4) 170 2
54 In the VBC: D, E and £ are the mid points of the sides BC. 4 and AB
Fhen area of ADEF arca of AdBC | -
MBE D) F ot e e BC. CA 2vomw  AB © 08gDocsas
ADEY 2Fe50 1 AdR( ogo = —
(1) 1:4 2) 4:] (3) 1:3 (4) 3:4
(1) 100°
55 In the given figure <BAC=90°. 4p | BC. BD=9em and CPH=16em then 4¢ =
BOYD B0 ol LB4( = 90", 1D LBC, BD=9cm S8t (D=160m ©avd, A =" 58  The ratio of vol
then the ratio o
, Jry 3 Body dompe w3
- : (1) 4:5
_ I hte y e
> . 59 Ifa parallelogr
B (M rectangle
8 b ! Wrods Seod e
= 20(1) 10 em ¥) 15 cm (3) 20 e¢m (#) 25 ¢m j
L (1) 88 Seiosd
56  The angle in the minor segment js Yo
(1) obtuse (2) acute @) 900 (4) None of these 60  The angle ar
“CQdwodo &*) o __ Emo )60ty 5
= 4
(1) JnT- (2) “eo) (3) ®oe (4) da & A—u 600
' v ‘. P g T~ I > ; l.ll-l.l-lll.ll.lllll-lll‘l
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(1) 100°

[he ratio of volumes of two cones is 4:5 and the ratio of the radii of their bases 1s -

then the ratio of their vertical height is

Bod) domPe waddIrme 4 5 dam ord drargrore A8 2:3 wond, & Dewy e K8

(1) 4:5

59 |f a parallelogram is cvelic, then it 1s a

(M rectangle

(3) quadrilateral (4) rhombus

sirodd Sk yesin BN, @0 es

(1) &g sdd@tn

60 The angle at t

(2) SavdRaw (3) Seodoyz=an

angent 10 a circle and the radius drawn at the point of contact is

$0)0ocy 36 )8 $16,008" od g>go 3

(1) 60°

e ——————

RK /D& o08 eranodudd podn
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) SECTION — B : PHYSICS (788 T

neasured Irom

N vall 1
o .noth () are d
61  Object distance (u). image distance (v), focal _p:w -entre (P)
(1) focus (I . @ :U:r.,rr“_ XIS
ancipal axi:
(3) centre of curvature (C) et 208 Feord.
: ) o s
52 6rdo (u) (@3Bow drco (V) wargoddo (f) en & Do) x
o (1) =8 (F) @)effaceiC
i (3) sige Soio (C) (Hiisrrak
Al ia and Hypermetropia. which should py
259 62 When a person is suffering from both Myopia and Hype
SR used ?
e o) (1) Bi-convex lens (2) _wm-n::c:f,n. fens
i (37 Bi-focal lens (4) Bi-focal mirror
BOK)

" (RO G, o 8% eriid 5088 AidairAcSHolNd
L) ay
i (1) BeHoarsrs sagsy

(2) ogyers=d dghn
(3) Bgrairods sh&hy

(4) Dma.&mo&a &6 yman

63 The resistance of human body varies between
L (1) 100 € to 50,000 Q (2) 100Q 10 5000
V3 (3) 1,000 Q to 5.00.000Q @) 100 Q to 5.00.000 Q

Ly FEO@oT SriH 488 D65 D Devse D dodnod?
i

(1) 10092 %08 50.000 Q 5% (2) 100 Q %oad 5,000 0 K

(3) 1,000 Q %0a 5. 00,000 Q SELH (4) 100 Q 2o 5.00.000 Q 355

64 Which part of our eye is responsible for
-5 (1) Cornea (2) Crystalline le
5 Db 80e36°D & errio Bed
(1) s20)at»

image formation ?

ns (3) Aqueous humor (4) Iris
(280020 D6 S 0s?

(2) se80

(3) Y&us @0 4) o5

65 Focal length of a lens is 25 em. lts power is

a8 508 egoddin 25 0.8, wans, ovd FRGein o
-1
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Least distance O

(1) 25 m
95 B3 89 &
(1) 25 2.

In our eve con
(1) Intensity o
(3) Taste

b 50836 dox
(1) sod Hide
(3) ®2

With the help
(1) Agqueous
(3) Ciliary n
B SFavol’ |
(1) Jy8°es @
(3) Davb &

o@/ A current 1

between its
¥ orafEo W
«1) sQ

70  When a o

(1) more
(3) not u

o8 oo A B
(1) &3,
(3) aus*
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nm

uld be

(4)

(1) 25 m (2) 25 mm (3} 25 cm
S SR €09 arddw
(1) 25> (2) 25 2. (3) 25 2o.b. (4) 25 8.5.

67 In our eyc cones identify

(1) Intensity of light ﬁ:_ Colour

(3) Taste (4) Smell
<% HoaSsta) FomuPen A MHoFraw ?
(1) 508 a8 (2) dorbd
(3) &D (4) ="
68 With the help of . eye-lens changes its focal length. N
(1) Aqueous humor (2) Cornea i
(3) Ciliary muscle (4) Pupil ; 20
DT
A9 sraBol’ S0l Sbso 83 TEgosord) Ard)Hotyod? A e
(1) #8°cs &0 (2) s*0yorr
(4) sad N2 VXE

(3) HDanb sodoren

69 A current through a conductor is 24, when there is a potential difference of 10V
" petween its ends. Its resistance is
o rirso Dice DAy 10V FB0E Bt oy, 24 g8

1) 5Q (2) 0280 (3) 20Q ) 2.5Q

PSraod. o) 2t Sod?

nnected to a battery the electric field in the wire is

70 When a copper wire is €0
(2) more at negative terminal

(1) more at positive terminal
(3) not uniform in the wire (#) uniform in the wire

o8 ovh B ergeab8 SO Brid dcgh Fdw
(1) &% Gydo 56 85 (2) 2w Bybo 26 Mopd
(3) bs® Dgbarr dodE (4) Bé* Dsbar dotwod

1=
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fe & ( 16 Conductivity
Foree % Lenggh . a \‘“. (1) Resistance™!
Charge  — Which quantity ? ) -
! . (4) «rw:.::r_ 1 fe. i ...T.m.mt
(1) Potential (2) Current (3) Resistance

(1) 28!

o eas ?
A = A

& The alloy made off €
) 4) Bdreed 77 I'he alloy
(1) T BJax (2) s mardedy  (3) 84GEw (4)

(1) Magnesium
Cu, Mn, Ni o# gap
72 40,80,

Then g—9

e T
. : o ] e esistance is 200,
resistors are connected in series. Resultant resi (1) BAysano

49, 80, R 20ren [Hcds® sens weran, 308 26%Gan 200 eans, R="

78 If a light ray passi
o @40 () 180 ) 8Q mirror, the reflecte
- (1) Through focus
: T
73 Units for specific resistance

(37 Retraces the p

- T = € m.. &8 5708 Bdmo, 66y

DL DB (Sirveren Bdmo Qg Sirdo

) Qm (2) Q/m 3) mi0 4) Qg (1) =0 (F) ®ooe
(3) ©8 o oo

74  When how much current flows in the fuse, it melts ?
Teer Loor Jod g (2550 0B Ehrbaon? 79 If magnification i
(1) mm_: A (2) 2A 3) 20 A (4) 2000 A iimage _..,. o
(2) Image is larg
75

(3) Image is of
The current in a conductor is directly proportional (o (he potential difference between
its ends. This is called

(4) Image is pol
(1) Faraday's Jaw

. o st (1) @
(2) Kirchofl's law (3) Ohm's law o

(4) Newton's law (1) ©30owdn, &
(2) Bbondn, &

(3) PBDoww, &
() 2rge Doy (4) ®BBousw B
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79

|

Conductuivity
1

y Resi _u.,,.n_ 9 Ul e 1stivi

(1) Resistance (2) Current! (3) Potential™! (4) Resistviy”

rirsdgo :

| UU..OUUCL 2] — o B

(1 (2) DSogdygamaring 1 (3) ﬁ;ﬂmob&rd (4) Umm.uumrﬁvt _
op P

[he alloy made off Cu, Mn, Ni is
(1) Magnesium _\l\ﬂ.?_nm:ﬁ (3) Manganin
Cu. Mn, Ni o8 8o D Shrin

(4) Magma

()imaysone (2) =S (3) arofald (4) &y

If a light ray passing through centre of cupvature (C) of a mirror is incident on the

mirror. the reflected ray's path is
(2) Through centre of curvature (€)
{4) Through any point

e 6 R R HSSRDIROPA, DO

(1) Through {focus (F)
(3 Retraces the path

od 5208 Bdmo, S8 min By Hse Hoso (C) od ke

86mo @ney &rdo
(1) =8 (F) cdoo
(3) B ardo boar FWEH [Paxreiipod

(2) HsoSo|S0 (C) rboa
(4) O B2 Do)y o

If magnification is equal to one, it means .

(1) Image is smaller than object L

(2) Image is larger than object

(3) Image Is of the same size as that of object

(4) Image is point size

engio 88 (1) ©and, orddo N
[~

(1) [@BDowsy, S0P &77) 9O Ve

(2) ©BOowin, HVD gar) G0 -_

(3) (PBDowY, BVY Dodr o8 HDirEod” AT YO

(4) PBDowan Do drdiné® a0
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Focal plane of a spherical mirror 18

: - * the mirror
12 pole (P) and focus (F) of the m

inci ocus (F)
to the principal axis at fi |

(1) Li

(3) P _:rr. ﬁm_ﬂ“r_m“”::: at centre of curvature ()
(4) Plane paralle| to the principal axis.
fteosng S8 yeEn aus) rdab deo wod
(1) s63m sys0 (P), od (F) en Send) B
(2) =8 (F) 5G (DorargrI8 woor &) dohn
(3) sse Bois0 (C) 565 womore @) demu
(4) (Brors08 sarossore ot dedn
amine teeth of patients. .
(2) Convex mirror
(4) None of the above

Dentist uses this mirror (o ex
¢I) Concave mirror

(3) Plane mirror

God gty 6% Sorremn HBRoBoch asartod s e,
(2) &ozrss S8 @H0

(1) H&rs6 s6 a0
(4) 2ot =

(3) svde &6 e

Focal length of plano-convex lens of refractive index » and radius of curvature R i

N Y8 dosEn, R Gser TEFGI Ao Shde Hogrsed SLgay Ay Fergodtian
R

(4) f=

n—1

(3) f

: R n—1
(1) =R (2) \um » Y
A bird is flying down vertically towards the surface of water with constant speed.
A fish in the water vertically below the bird sees the bird
&%\» Further away than actual distance
(Z) Closer than actual distance .
(3), At actual distance

In inclined position

(1) wden P50 808 srtorm glthdon
(2) eiben S0 808 arism S don

(4) >ené® gieiion
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(3) eden 508" dediion
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2 aodnds mx.ﬁt
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A convex len

L7 focus (F)
28 Bcersd &

(1) =8 (F)

Formula use

of relractive

s*08 8dmo n
ﬁﬁiobmﬁu

T om oy

An object
If the imag
find the ol

(1) 10 en

&S Hirsd
oA 66,

B0 >y

(1
e
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tive index no from a medium

§5 1 used when a light enters a medium ol relr:
of refractive index n; at curved surface with radius of curvature R 1s
505 Bdmo 1) B85S romso o arrsgo ol # 8IS mso, R zardorr do HEde0 &
Porrdolaipd, &1 |Bod SebEdnin HBELE
» na> o na— Ry 1 —m
1e T r— 23 » B e
R is o w I R
/- 2,
Ll -
w i i ] _‘mu - _______ 1« n- ___: (s __.._
B g ( —_—— — = — =
{2} naoom R ) Voo R
£ =
sed. | o i ’
v I | .k | - | !
1 V wl w =i’ -

86 An object is placed at a certain distance on the principal axis of a concave mirror.

If the image distance (v) is 30 ¢cm and radius ol curvature (R) of the mirror is 20 cm.

find the object distance (u). ,
85 . L.
(1) 10 cm (27 15 cm (3) 30 cm (4) 7.5 em '

28 Htrsr0 60 )0Y (Borrgind Fod Srood® wd Sy dodwdts. [BHBDow drdhn (V) 30 0.

Bbaty S6)@in M) HYser Tgd 20 0.8, wowh @rde, H EroE (1) Jos?

. (1) 10 0.5 (2) 15 2o (3) 30 %o (4) 7.5 2od
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89

.n.__ gxis. arc incident
Y
ahaithe __.:._:...
: an s ~uc to |

When a set of parallel rays of light _:n__:ra at
on a convex lens. they
_.{S\hc:(c_.mn at focus (F)
(2) Diverge from focus (F)
(3) Converge 10 point on focal plan€

Ve ; i 0C ane
(4) Diverge from a point on focal pla B 5,

o, Q % —-
o gol 15° $wo DIr BarrdoD 5708 Yoz &0

(1) =B & Bobg)sDYHET
(2) ~Dod o\ bEbodRBE" 00

(3) Fhan dooD 28 Do) 56 Bo|bg)ysDDE Y
o\ bEBORIGTTO

(4) whod oo wE DoDY »od

e side of a mirror, the muirror 15
(2) Convex |

If object and image lie on the sam
(4) None of the above

\ Concave

(3) Plane
o, S8Dowo S8)-08 &8 B 808, © Sepmen
(1) Hersd (2) oers 6
(3) whde @) W=y
To find normal to a curved surface at a point. join that point and  Wes)
Mu\m%&:.m (2) Pole (P) 4

entre of curvature (C) (4) Any point on principal axis
u_@me.vm o8 Dody 96 wowin, & DodiPd (Bod AP DohHE goirr 8 d &8
(1) = (F) (2) &8 Sosaw (P) |
(3) yge Bogaw (C) 4

(4) Permrgin D B Dok

E:cz&mﬁsnncng:.
nn:cgon_nzawnan. oca
ben.ditangebey n 1S mor 4 times
many positions of the convex lens, image is mrwhw mﬂ e R e in ho
, | < w

&Y, Bo Ly drdo Howrs s sl
reodorn8
B FEedt gBlostuiingom ooncooqm (1) 4 D260 ey A LB, SHE8 Bk
&

@his
212 e 5
4
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SECTION ) 5
C : CHEMISTRY (6Rr00% w=)20)
| . | . _ .
L o) How many s-block and Sl R .
. g o ¥ -block eleme : i
periodic table ? p-block r_r_hdr_mﬁ.z. are there in the second period of the ek

@08 WBCH M Bosd boan Bt
Ay s-er§ dwdamy p-wr6 DrosTen goin?

-
(n 2.8 (2) 8.2 -
43) 2. 6 (4) 4. 8

_ 97 In the modem periodie
_ table group 2
_ ’ p 2 (I1A) elements are ci lled «
(1) Alkali metals SEE e
o — (27 Alkaline earth metals
= (4) Noble gases

1 Ardd @DHGH 3 5
& em&mv (=S 2 (L1A) sresrei D wotrd?

; (1) 76 &'Few
(2) seCdyds &afen

(3) &=
= (4) =6 srodoHen

.__ : - % - > M P y .
93 Which of the following atomic numbers of elements have similar chemical properties ?

5 sSarm dopgeny Ao DresTed a8 G and goryen SOA dod?

& (8ob T83&°
(Y 7.8, @) 9.17, 35 (3) 3. 10, 11 (4) 10, 11, 12
E i r \L, L oMe i ~ ma T
04| The valency of Calcium is
J s=fano a0 &, dodiress
¢2) 2 3) 3 (4) 4

(1 |1

is 17 then the period to which this element belongs

mber ol an element

9% Atomic nu
o Hresan gy AP sowg 17 wand @ froko D aXEH Bodin? 0
ay 1 2) 2 37 3 @4

an inert gas element ?

lowing i not
Loy 570 Q07

(7) Na

_a Which of the fol

‘ & (Bod TS pdaro
(3) Ne (4) Ar

(1) He
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. s
aly, water 12

; . vancls with

97  The product formed when quick lime reak

oxrep O (4) CaCl,

T wdyo oo B lngy Sdgd” YD (s 0
: (3) CaCl3

(1) CaSO, (2) Ca(OH),
" aqueous Ny
; . electrolysis © |
uct in the €
romais] leﬂc.m
NaCl seiersst 2xrs8 i (@B (800 el DO (BoPERG
(1) NaOH @7 0, (3) Cly

98 | Which one of the following is not d prod
(4) Hs
Jemical equation

99 Whe 2 aans VAl rareacent in g cl 5
hat does the symbol 'A’ represent in a ¢ Y Physical stare

(1) Catalyst (2) Precipitaie (%) Heating |
S a0 GE6mos® ‘A @ ) BAD rdiod?

= y / e o, " i
(1) a833650 ) esfizo (3) Badando (4) ras s __

100 The chemical reaction in which heat is absorbed is called

(1) Oxidation reaction (2) Exothermic reaction

(37 Endothermic reaction (4) Reduction reaction

GRraxh 366" ‘B0’ ((Rrowedd, v $6K DHD wotrd?

(1) e8yscn sog (2) az@rdd ddg |
(3) axymr>s sog (4) gonom $dg #

g a\.v Which of the following has highest mass 7 __.

(1) One molecule H,0 (A One gram ZUC - _.
(3) One ml H,0 (4) One mole H,0
Bod 636° 08308 555090 €DNGBE? ,

(1) a8 oy 1,0

(2) o (ran HA0O
(3) w8 20865 H,0 5

(4) o8 @ 1,0

102 When the equation, Na+H>0 — Nac M+ 4

__ZH,. 9 15 Tﬁ_._m.:._ﬂ.t-#_

» What is (he coellicient lor
Na+Hy0— NaOH +H> #5860

2 2 ), 050 Bissdys Ny
(1) 2 2) 3 Vo O vmeo Jogr

(3) 4 “ |
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103 I'he impurities pre
(1) 1 lux

o~ .wf.DL..__.w_._ dDier 0y, &

(1) &&=t

104 ['he reaction that
(1) Reduction
(3) Neutralisatior
G885 636" wbh ¢
(1) govEdmo
(3) &P—w&nﬂo

105 In electrolytic re
(1) Anode
vnrmm um..ﬁu @ gd
(1) «F5

106 Potassium and |
1) s-block ele
(3) d-block ele
Pérlnho Hbdak
(1) s-2r swror
(3) d-or8 fre

107 Which of the
TRBS oo
) Sio,

108 Which of the
(1) Bauxite

& |Bo0 38
(1) o8&
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_:._ [he tmpurities pre

Senl in the
(1) Flux h

L)y (
. i % p(EVD
DB 1DMA'an by By

Qre s enlled nn
H[§

(1) Slog (4) Mineral

JEO D apghyely?

(1) |0

(2)
moh (1) efdrfowo (4) wduo
104 that kes place . :

n Mace i Thermite process is _,

(1) Neutralisition (2) Oxidntion
(¢ 3 : nbove
&0y Suge® woh 659 1) None ol the aboye
X il

(1) Hon#two

( i) &n.r.,z.__c (2) .:__.’.._aa.u:
- wo
L]

(4) 90wy

(08 In electrolytic refining of metals, the pure me

al s taken ns
(1) Anode ) Cathode

(3) Electrolyte (4) Vessel
DgB iee orgs S0 HBaned® hg &iro B bawotrd?
(1) us*s (2) w&'s (3) doftypes (4) o8

(6 Potassium and Caleium belongs to
(1) s-block elements

(2) p-block elements
(3) d-block elements

(4) I-block elements
Sertono Hbom srdavo hremen J gl Bodkin?
(1) s-zrB Srosew (2) p-erd Qrosen

(3) d-gr8 rosren (4) [-gr6 browew

107 Which of the following is used as a fux in the smelting of Haematite
T B (Hrvbo Hod (DD ALRINOBHD 267

¢ Si0, (2) CaSiOy (3) CaCO;4 (4) FeSi0,
_ i ing i ol Iron 7
10 ic he following js an Ore ol |
: wﬂ“d_“_hd:_._r : 2) [aemalile (3) Carnallite (4) Pyrolusite
auxite
o 4 A7
& (Bod o3& @t iy OB |
H:_.e.u & (2) oD (3) wo)Bs (@) sy
)

->

2
__ot
]
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109 Which one of the following is strong acid

& (BoO oreles® DORH e J67? ) (4) NH,OH
(1) CH;COOH 27 HCl (3) H0

110 Which one of the following is an acidi¢ oxide

rwon.. L @ uB)E D67 Ut @ co,
4y Mgo (2) NayO (3) €a0

111 Metallic oxides are generally __in nature. ) A iasic
(1) acidic (2) neutral (3) amphoteric )

&t «835 en Frordmorr
(1) ez (2) 8&3

Deerard) SOA dotron. 4 n
(3) Dmu.mﬁenﬁnc& (4) =

i 112 The chemical formula of blue coloured Copper Sulphate crystal is
00 Borh 5w5 585765 518860 S SFand P e
(1) CuSO, H,0 _¢2) D_wP.u__%JmE

CuSO,-5H,0  (4) CuSO,- 10H,0

113 In an atom. when electron jumps from ground state to excited state

e (1) no change in energy (2) energy is emitted
= ( &\ energy is absorbed (4) depends on atom
/ Harad’ dogsl drgran w08 6828 Fabl aross’

(1) 486" 06y dodco LA2) 8 agroim

(3) 8D (oo C(4) SEr@HD GersShD

114 The nature of chemical used in antacid ﬂ.
_ (1) Basic (2) Acidic (3) Neutral

(4) All the above
rorbBe® dsEnnod Girats Sand dewriin

() gro (2) o @) L (4) WY
! | 3
115 pH value of aqueous NaCl solution js M
NaCl seiorsosn @weg, pH devd ﬁ.:.
(1) 1.7 (2) 2 =i(3) 10
W 7
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7 The orbital Wwhich s

L P O T
3 2 M A
3p @byerd Doy B

(1) 4s

117 The quantum Numbe
©0)ErYY B3 tags

(1) n

118 Which of the foljow
(1) Cp_._.ﬂ.:m rays
.,W\H.x-qmv.wl
Dekogcsanarg of e
(1) rmrar 8o

(3) X-88zren

119 When n =4, the 1
n=4 BIPA ¢
(bH 1

120 The correct set o
atom is -

Daavo HhraY |

(1) n=3. =], n

(3) n=3, £=0.n
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with

ip' @83erd DoAS & clectrons immediately afl
. A 0D E Oeieraat -
SIS E Do) ” r
(1) 4s o WS 0D wbyerd J67
) 3d B
(2 (4) 4p
17 he quantum number whj |
L&) g i
; : I explains about the spacial orientation ol orbitals 1s
@B P OFE BRI Ry Dias
= L Y5008 s oto Home
3 T3
(1) n ) 4
(3) m, (4) m,
18

Which ol the folloy v B

: ving has larger wavelength in electromagnetic spectrum
(1) Gamma rays (2) UV

Sl d 2 rays

1) X-rays =
fw 1 : (4) Radiowaves
DeagBaPp o8 Hkod® whHy ddorfBdgo SHARD DI
(1) rede Bberen (2) wddod*trd Bomren ¥

B e B0 (4) BA@r ddorren A i a
19 When n — 4. the total number of subshellg in an orbit is
n=4 rm ad)dpd o 66,606" dod Bwdo adEdore Howg

(1 1 (2) 4 ._.: 2 4)

o

120 The correct sel ol four quantum number values for the valence electron of sodium
alom 1s - I =Y

a0 soare @8y BO8) Jogrye 608 A 5°5ol0 JoRGe Densden

25 n=3, £=0, m=0, 3=+

1| —
-

(1) n=3, £=1. M R

i(4) n=3, £=1, m=), s =

+

N | —
1D =

(3) n=3. =0, m=1l.87%
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